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#h X £ HEFEH B = &t BIAL AD
® L 164 162 150 312 6
5l— & =& 580 559 525 1,084 3
X 45 17 245 224 267 491 0
M 57 160 184 168 352 2
N 1,149 1,129 1,110 2,239 1
% M 167 169 161 330 2
it m # 85 96 113 209 0
BmoOom 119 120 142 262 0
= |F sl 94 98 94 192 0
= X 81 89 99 188 0
E 1R 61 72 75 147 1
|2 o 206 163 181 344 3
BES1TEH 122 148 168 316 1
BELS2TEH 1 1 1 2 0
BES3TH 84 110 130 240 1
N 1,020 1,066 1,164 2,230 2
e = 50 47 48 95 0
ah ] 29 27 33 60 3
T A K 69 80 79 159 0
gl A ow 27 24 32 56 0
# e 39 30 35 65 0
SCBIR1TE 244 300 300 600 — 1
5 [SCPR2TE 212 295 295 500 — 3
S(BIR3TE 228 287 275 562| + 2
S(BIRATE 268 304 332 636| + 4
S<L R @ 185 333 297 630 + 1
TN 1,351 1,727 1,726 3,453  + 6
& 293 342 344 686 — 1
3 s 20 18 23 41 0
w|F £ 8 62 65 71 136 0
i Ly 325 374 379 753| — 2
q 3 & 454 462 540 1,002| — 1
N 1,154 1,261 1,357 2,618 — 4
XE1TEH 399 436 478 914 — 1
XE2TH 542 607 685 1292 + 2
Xx=3TH 346 395 415 810| + 1
=|XAE4TH 574 644 678 1322 + 2
XE5TEH 121 133 129 262 0
N 1,982 2,215 2,385 4,600 + 4
B 6,656 7.398 7742 15140 — 7
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